S o
4 H 3#: e
3 X % = 2.7 78 X % =70.2

51 x % =153 13 x % =11.7

64 x % =157.6 45 X % = 22.5

17 % % = 10.2 21 x % = 10.5

68 X % =6.8 80 X % =16

15 x % =26 8 X % =24

47 % % =423 18 x % =172

46 % %=414 34 x % = 30.6

62 X % =372 97 x % =194

56 x % = 33.6 37 X % = 29.6
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K,

DRk

G

3 x90% = 2.7

51 x30% = 15.3

64 < 90% = 57.6

17 x 60% = 10.2

68 x 10% = 6.8

15 x40% = 6

47 x 90% = 42.3

46 x 90% = 41.4

62 x 60% = 37.2

56 x 60% = 33.6

H -

78 X 90% = 70.2

13 x90% = 11.7

45 x 50% = 22.5

21 x50% = 10.5

80 x 20% = 16

8x30% =24

18 X 40% = 7.2

34 x 90% = 30.6

97 x20% = 19.4

37 x 80% = 29.6
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